EARAROBEEIERT — 2 N— IBISH —F

2014538248 (B) 12@@F11H

1R BRI

‘ [R1%] & ‘ [REBE] — | & (&) 15000 B

[AE<%] 1 7% :1,600,000 § ~ 2 7&:480,000 F 3 #&:272,000 4

4 7% :208,000 F 5 3& :160,000 [

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
EBH . -1-1- — NIARE (GFFN)
17 AXTHY JIF 4 4 an 1.(3_7).5 1-1-1-1 | 40.5 1 <5+011) ;’;;HEEJ
X THANAIN B:TILXA HE77—»4L
N2 # 5 | E#EAHIE 1:37.7 3-3-2-2 |40.5| — 6 485 | taEZE (/1)
2|7 9| TTTAN=S L €L (3/4) (1) | LR
L:h74=2T B:77—LXx+vy b N H LS
> DIER T LN H 6 Suélﬂgnﬁi 1:(328>.l 9-8-10-9 39.0| — | 7 | 505 %E;i (111i)
R:vNy&LhTT BFAAMLET Y (-5) P ie ]
5 o= ETHE A : —5-5- = H2B— (1)
N B2 ZEE =P - e | T 0T 20 |
:a4%> v bV B:OAVILA-—Fy K X =7 )85
S * 4 6 | WERK 1:38.4 10-10-8-7 | 39.4 | — 5 538 | LEEfhEE ()
5(5|5 RU—LAILH -0 (11/2) (+3) | FREE
R:a4% v ML BikwL /7T w2 ke ]
o = o4 | HEF 1:38.4 6-6-4-3 | 41.0| — 4 473 | EHF (i)
6l8l11| XAYXTZ1 b 56.0 (7€) 7 |FE-®
RTIRRTIIA N BAYE—T A—ZNT7—L
it} . —-D-3— — EMEHPB (H)
7l7lg | TATALY YR H o6 s 1.(328>.8 2-2-3-4 | 41.7 8 (4:387) SEaz
L:xrinM40—- B:EFIq> 1“2
w . #H o6 | RFEE 1:38.9 1-11-11-10{ 39.4 | — 9 495 |BE=F (1)
Eﬂ 4 2YTLF 56.0 (3/4) (-3) TR
L:7L>FFE2T1 B2 YIE— jedllbve]
R N, HEISThTE :39. -9-9- . - 1EREEEL (AFE)
ol 111> b7z B 7 i 1(33/94)1 8-9-9-11 | 40.0 10 ig;t i 5
2R v T4 —U B:O-XLT1 BREHH LFIL b Tr—L
s o= KHEfE— :39. —-4-6- . — =AE— (&)
10 3| RAFINTT—LZR i B 56.0 (11319/23) et 4T s ?_io) TEEE
R:TIRRAFIEN B IANINLT T EvilLy RTp—L
< . . B4 | RiEEA 1:39.7 7-7-7-8 | 41.3| — 11 447 | NIIFSFE (AN
1810 3HFTHFIT 54.0 @ o) | FHER
L:T7 BR749 7748 B 72 ahl BREMHT Y KI9 T - Tr—LA
® I —F—@EBIERL
13=7r= 7,8,9,3,6,11,10,1,2,5,4
2= = 7,8,9,3,6,11,10,2,1,5,4
Jol=5r= 7,9,8,11,6,3,10,5,1,2,4
40—+ — 7,9,11,8,6,3,5,10,2,4,1
[ N3
BB 7 1604 714K 7-9 630 % E 6-7 680M 3EHE 2-7-9 5,960/
8 B 7 110 2-7 600 B 6-7 900M K31 7-9-2 14,370M
9 320M 2-9 2,230 B E 7-9 1,700M
2 250M B H 7-9 2,130M

ABICOVWTRDTEEERROODE. TR LIV,




